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5.3 1
EXAMPLE 1 Evaluate ([, (3x + 4y®)dA, where R is the region in the upper half-plane
bounded by the circles x* + y*> = 1 and x> + y* = 4.
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MPLE 2 Evaluate [[[, z dV, where E is the solid tetrahedron bounded by the four

planesx =0,y =0,z=0,andx +y + z=1.
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EXAMPLE 2 Evaluate |. 2x ds, where C consists of the arc C, of the parabola y = x’
from (0, 0) to (1, 1) followed by the vertical line segment C> from (1, 1) to (1, 2).
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XAMPLE 4 Evaluate j'C y*dx + x dy, where (a) C = C, is the line segment from

(=5, —=3)to (0, 2) and (b) C = C, is the arc of the parabola x = 4 — y? from (=5, —3)

to (0, 2). (See Figure 7.)
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EXAMPLE 4

(a) If F(x,y) = (3 + 2xy) i + (x? — 3y?)j, find a function f such that F = V.
(b) Evaluate the line integral | F - dr, where C is the curve given by

r(f) = e'sinti + e'costj Ostsmw
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